

A note on the exponential diophantine equation
 $(2^n - 1)(b^n - 1) = x^2$

By MAOHUA LE (Zhanjiang)

Abstract. Let b be a fixed positive integer with $b > 2$. In this paper, using some elementary methods, we prove that if $3 \mid b$, then the equation $(2^n - 1)(b^n - 1) = x^2$ has no positive integer solution (n, x) .

1. Introduction

Let \mathbb{N} be the set of all positive integers. Let a and b be fixed positive integers with $1 < a < b$. Recently, there were many works concerned the equation

$$(a^n - 1)(b^n - 1) = x^2, \quad n, x \in \mathbb{N} \quad (1)$$

(see [1], [2], [3], [4], [6]). In this paper we consider the case that $a = 2$. Then, equation (1) can be written as

$$(2^n - 1)(b^n - 1) = x^2, \quad n, x \in \mathbb{N}. \quad (2)$$

In this respect, L. SZALAY [6] proved that if $b = 3$, then (2) has no solution (n, x) . L. HAJDU and L. SZALAY [3] proved that if $b = 6$, then (2) has no solution (n, x) . In this paper we prove a general result as follows.

Theorem. *If $3 \mid b$, then (2) has no solution (n, x) .*

Mathematics Subject Classification: 11D61.

Key words and phrases: exponential diophantine equation, Pell's equation.

Supported by the National Natural Science Foundation of China (No. 10771186) and the Guangdong Provincial Natural Science Foundation (No. 06029035).

In addition, we notice that (2) has solutions for infinitely many b . In fact, (1) has solutions if b satisfies one of the following conditions.

- (i) If $b = 1 + c^2$, where c is a positive integer with $c > 1$, then (2) has the solution $(n, x) = (1, c)$.
- (ii) Let $\alpha = 2 + \sqrt{3}$ and $\beta = 2 - \sqrt{3}$. For any positive integer k , if $b = (\alpha^k + \beta^k)/2$, then (2) has the solution $(n, x) = (2, 3(\alpha^k - \beta^k)/2\sqrt{2})$.
- (iii) If $b = 4$ or 22 , then (2) has the solutions $(n, x) = (3, 21)$ and $(n, x) = (3, 273)$, respectively.

By the above mentioned observations, we propose the following conjecture.

Conjecture. *Excepting the above cases (i), (ii) and (iii), (2) has no solution (n, x) .*

2. Proof of Theorem

Let d be a positive integer which is not a square. It is a well known fact that the Pell equation

$$u^2 - dv^2 = 1, \quad u, v \in \mathbb{N} \quad (3)$$

has solution (u, v) .

Lemma ([5, Lemma 3]). *Let $(u, v) = (u_1, v_1)$ denote the least solution of (3). Then we have*

- (i) *For any solution (u, v) of (3), we have $v_1 \mid v$.*
- (ii) *If $(u, v) = (u', v')$ is a solution of (3) such that u' is a power of 2, then (u', v') is the least solution of (3).*

PROOF OF THEOREM. Let b be a positive integer with $3 \mid b$. If (2) has a solution (n, x) , then we have

$$2^n - 1 = dy^2, \quad (4)$$

and

$$b^n - 1 = dz^2, \quad (5)$$

where d, y and z are positive integers satisfying $dyz = x$, and d is square free. Since $3 \mid b$, we see from (5) that $dz^2 \equiv -1 \equiv 2 \pmod{3}$. It implies that $3 \nmid d$, $3 \nmid z$, $z^2 \equiv 1 \pmod{3}$ and $d \equiv 2 \pmod{3}$.

If $3 \nmid y$, then $y^2 \equiv 1 \pmod{3}$. Further, since $d \equiv 2 \pmod{3}$, we get $dy^2 + 1 \equiv d + 1 \equiv 0 \pmod{3}$. But, by (4), it is impossible. Therefore, we have

$$3 \mid y \quad (6)$$

Then, by (4), we get $2^n \equiv 1 \pmod{3}$. It implies that n must be even.

Since $2 \mid n$, we see from (4) that the Pell equation (3) has the solution $(u, v) = (2^{n/2}, y)$. Therefore, by (ii) of Lemma, $(u_1, v_1) = (2^{n/2}, y)$ is the least solution of (3).

On the other hand, we find from (5) that (3) has an other solution $(u, v) = (b^{n/2}, z)$. By (i) of Lemma, we get $y \mid z$. Further, by (6), we obtain $3 \mid z$. But, since $3 \nmid b$, it is impossible by (5). Thus, if $3 \mid b$, then (2) has no solution (n, x) . The theorem is proved. \square

References

- [1] J. H. E. COHN, The diophantine equation $(a^n - 1)(b^n - 1) = x^2$, *Period. Math. Hungar.* (2) **44** (2002), 169–175.
- [2] J. H. E. COHN, The diophantine equation $x^n = Dy^2 + 1$, *Acta Arith.* **106** (2003), 73–78.
- [3] L. HAJDU and L. SZALAY, On the diophantine equation $(2^n - 1)(6^n - 1) = x^2$ and $(a^2 - 1)(b^{kn} - 1) = x^2$, *Period. Math. Hungar.* (2) **40** (2000), 141–145.
- [4] E. HERRMANN, I. JÁRÁSI and A. PETHŐ, Note on J. H. E. Cohn's paper "The diophantine equation $x^n = Dy^2 + 1$ ", *Acta Arith.* **113** (2004), 69–76.
- [5] M. H. LE, Diophantine equation $x^2 + 2^m = y^n$, *Chinese Sci. Bull.* **42** (1997), 1515–1517.
- [6] L. SZALAY, On the diophantine equation $(2^n - 1)(3^n - 1) = x^2$, *Publ. Math. Debrecen* **57** (2000), 1–9.

MAOHUA LE
DEPARTMENT OF MATHEMATICS
ZHANJIANG NORMAL COLLEGE
ZHANJIANG, GUANGDONG 524048
P. R. CHINA

E-mail: lemaohua2008@163.com

(Received October 31, 2008)